Name: _____________________________________________________________                              Date: _____________________________

GSE Geometry                                         Unit 6 – Connecting Algebra and Geometry	      6.6 – Review
1. 

2. Write the equation of the line given the slope is 2 and the y-intercept is -7.








3. Find the equation of the line between the points (4, -1) and (12, 3).









4. 
5. 

Given the slope of a line,, and the point , write the equation of the line.










6. Given the graph, write the equation of the line.












Write an equation of the line that is parallel to the given line and passes through the given point.

7. 2y = 6x – 4, (0, 3)
8. 3y = x + 5, (6, 0)
9. 2x – 4y = 8, (-3, 1)


Write an equation of the line that is perpendicular to the given line and passes through the given point.
10. 
11. y = -7x + 5 ;  (7, 1)
12. y =  – 4 ;  (4, 3)
13. 3x + 5y = 6 ;  (-2, -2)


Error Analysis: 
14. Keesha claimed the equation of the line through the point (4, -3) with slope 1/12 is y = 1/12x + 8. Her work is shown below. Explain her mistake and find the correct equation.
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Find the length of the missing variable:
15. 
16. 













17. 














18. 















Find the distance between the following points:
19. 
20. 












21. 













22.  Max’s bone was buried 20 miles west and 2 miles north of his dog house.  If his doghouse is located at the origin, how far away is Max’s doghouse and his bone?
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L Challenge problems for
Lesson 5.2 are available in

56.2% 256 57.4° 64 58. 8 409% 59. 10* 10,000

blackline format in the Chapter 5 60.7° 5764801  61.6° 1007769 62.5'' 48828125 63.9"
Resource Book, p. 33 and at . ) about
www.medougallittell.com. RULES OF ADDITION Find the sum. (Review 2.2) 2,541,865,828,000
1) _1
64.—7+ (1) -8 65.4 + (—4—) - 66. 9+ 11 2
ADDITIONAL TEST =D 2) 72
PREPARATION 67. —10+ (—=1) -1 68.2 +(—6) —4 69. —18 + (-2) -20

1. WRITING Keesha claimed the
equation of the line through the

point (4, -3) with slope 117 is

70.6+(=8)—4 -6 7.4-(=7+3 14 72.5+ (=3) + (=5)

FINDING SLOPE Find the slope of the line. (Review 4.4 for5.3)

3
73. IS P 74. ;,‘%13' -2 75. M3

y:%}u 8. Her work is shown
below. Explain her mistake and

find the correct equation. ad >l
y:qvx+b | 2,2 | K3 7‘—1 X
4=35=3)+b [ I < \\ G |
4=—4+b /‘\/ O I )

See sample answer at right.

ﬁ Chapter 5 Writing Linear Equations

51h. See Additional Answers begin-
ning on page AA1. Additional Test Preparation Sample answer:
She switched the coordinates for x and y when she |4

substituted in y = mx + b. The correct equation is
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